34 Derivakives of frigonowmehric  Lunckions

Tt is important to remember that everything for six trigonometric functions (sin », cos o, tanx, cot r, csc o, secr

will be done inradians:
EXAMPLE 1. Compute:
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THEOREM 2.
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EXAMPLE 3. Find these limits:

(a) lim sin
z é% 5 X

= fu (52_1) o b, Sr¥ogr=k)

Sk (q") E — |\¥ssX —=o©

X=> O

oo !

§=0 ¢
LY
Sy SN Q_Z:lrv\ ~
Ind iy 125X 20 bome __"‘f/") = b jzj v 7
N y X0 y=20 ,@
X= z = g" -
N 1. B VI Sy
) r~— qx S'-'V)(TK) 71 7
Xo o e
L ’ 3
A { L

(¢) lim——
r—0sin(4x) ge— /evm

e 2

x=%

. sin(ax) : x .sin(ax)

ll_% P a" iﬂ%sin(am)z i3 I%Sin(bf)_ a
a b

. X _ SN’\X _

Note  Kom ok =1 Remind & -

X0

X0




(d) lim

. cosx—1
(e) lim—
r—0 sinr

—0x2 Cotz('}r)

= (»"* v m(sX\

X0

< fu

XD O

Sin (3X>

X

{-.. CoAx =1
X0 X

SinXx

e

4
o

L
1

(2

VX
"_b'z 1
=0'1=0



EXAMPLE 4. Find the following derivatives: .“L CHX - StmX
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Remark Similarly one can get (cosx) = —sinuw.
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Derivatives of Trig Functions (memorize these!)
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EXAMPLE 5. Find the derivative of these functions.
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EXAMPLE 6. Find the equation of the tangent line to the graph offunctwn y=a’sinz at x =
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